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AND NETWORKING
Section Id : 2549895918
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52
Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895959
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A computer program that translates one program instruction at a time into a machine language is called:
Options :

1. % an interpreter

2. * an emulator

3. % a compiler

4. #* 3 simulator

Question Number : 1 Question Id : 2549896435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T SR U S Th FHY TR Ueb T a1 b1 7= 11w H 3rdTe Rl § 31 Hgald o2
Options :

1. ¥ R

2. % TR

3. % HHGER

4. % Rgacx

Question Number : 2 Question Id : 2549896901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS G Red H, SehARS Sl THd: {6y &1 &0 dd 82
Options :

1. ® had 31&R

2. ¥ &R 3R GBAY

3. % PHad JBAY

4. % 0T O TRERE® (*)

Question Number : 2 Question Id : 2549896901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In an information system, alphanumeric data normally takes the form of:
Options :

1. * only letters
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2. % letters and numbers
3. % only numbers

4. % characters like asterisk (*)

Question Number : 3 Question Id : 2549897051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ATMs belong to which of the following categories of embedded systems?
Options :

1. # Standalone

2. # Real time

3. % Networked

4. % Mobile

Question Number : 3 Question Id : 2549897051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WA (ATMs) Fafafad 7§ 3 f5y 9ot & e s Rren ¥ Tefda 82
Options :

1. % TI3aH (Standalone)

2. % J{Yd TISH (Real time)

3. ¢ Jedas (Networked)

4. % HIEISA (Mobile)

Question Number : 4 Question Id : 2549897320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&I g (UNIX) H A1 A18 Sexuiier & &9 H o1 ST g1
Options :

1. % HUSR

2. % FAd

3. % ReH aEsd

4. ¢

Question Number : 4 Question Id : 2549897320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is known as the command line interpreter in UNIX.
Options :
1. * Compiler
2. % Kernel
3. % System library
4. % Shell

Question Number : 5 Question Id : 2549897685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following MS-Office software is used to create professional quality documents, letters, reports, resumes, etc., and
allows you to edit or modify your new or existing document?

Options :
1. ® MS-Access
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2. % MS-Excel
3. # MS-PowerPoint
4. % MS-Word

Question Number : 5 Question Id : 2549897685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafaRad & ¥ {59 MS-Office ATUCITR BT IUANT URIGR TUTa aTdt Siagdc o, U, Raie, fesgd onfe s & forg faran
Gﬂ?ﬂ%aﬁw-s'e-rrcmWwwﬁwmﬁwﬁa(edmmmﬁ‘ﬂa(modlfy)mﬁﬁ&anﬁlﬁé‘cﬂ%?
Options :

1. ¥ MS-Access

2. % MS-Excel

3. # MS-PowerPoint

4. ¥ MS-Word

Question Number : 6 Question Id : 2549899374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS &% o A ¢ &I U e I9-HTHR & T B fquIird foran S g for w51 I g
Options :

1. % I3S

2. % O1C

3. % ¢Hh

4. ¢ YIR

Question Number : 6 Question Id : 2549899374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Each track in a hard disk is divided into an invisible wedge-shaped section called:
Options :

1. % round

2. % port

3. #* track

4. % sector

Question Number : 7 Question Id : 25498911422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TS Uil & TS SR SFETRIET 1 Heig TRRiT gfie &t Te 39 § Tiad ral g |
Options :
1. % QIR feifd
2. ¢ URIRR Tb et
3. % YRR ST
4. % YIEER ARG

Question Number : 7 Question Id : 25498911422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

enables the binding and unbinding of a process to a range of central processing units.
Options :
1. # Processor linking
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2. % Processor affinity
3. ¥ Processor bonding

4. # Processor masking

Question Number : 8 Question Id : 25498929962 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁﬂﬁ%ﬁ?,a@ﬁm,&ﬁﬁﬂsﬁimﬁﬁﬁw&ﬁﬁuswﬂ B DI dD-ie BT YA (gferad § & forg & fora
WITdl &?

Options :

1. * difsaafcs yormedt

2. ¢ SAATCH yomer

3. % TTferd Yol

4. % 3t Yol

Question Number : 8 Question Id : 25498929962 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The technique of recognising human characteristics such as fingerprints, facial images, irises and voices is used in:
Options :

1. # videometric system

2. ¥ biometric system

3. # automatic system

4. % audiometric system

Question Number : 9 Question Id : 25498930214 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

@%memaﬁa@:ﬂﬁWﬁwmmmwmaﬁaﬁwwaﬁmﬁaﬂuﬁww
|

ﬁns:
1. ¥ &Y
2. % 3T
3. % QAN
4. % 3@

Question Number : 9 Question Id : 25498930214 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The wavelength of a blue laser used by Blu-Ray format is substantially than that of the red laser used by the DVD format.
Options :

1.+ lesser

2. % larger

3. # equal

4. % linear

Question Number : 10 Question Id : 25498930639 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Central Processing Unit (CPU) consists of which of the following parts?
Options :
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1. % Control Unit (CU) only
2. % Control Unit (CU) and Arithmetic Logic Unit (ALU)
3. % Main Memory
4. % Qperating System

Question Number : 10 Question Id : 25498930639 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T TR gfHe (cpu) B Fufafad o 9 & 91 UFT 8T 82
Options :

1. % PHad FEE0 38T (CU)

2. « PR SHTE (CU) IR SifuAfesw aifoid gfie (ALU)

3. % ER@HHI?I (Main Memory)

4. % JTRfET Rzew

Question Number : 11 Question Id : 25498930705 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFrafifed § 9§ $H-91 1 R s 81 &2
Options :

1. % M-S

2. ¥ TSU

3. % Wi

4. % T TRIGIRY

Question Number : 11 Question Id : 25498930705 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a free blog host?
Options :

1. % GoDaddy

2. % WordPress

3. % Mozilla

4. % Internet Explorer

Question Number : 12 Question Id : 25498930958 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fufeRad o ¥ $1F-31, TR &) eBRAT TR R LD UMY &Y Sifg 3537 & Th SPIH T HIAdT & 1Y 38 & HRBI
R R 81 I AP & foIU U dpfetss AdhfoH 82

Options :

1. % HH AT H ol [S¥&] B 0S¢ Bl

2. % g3 P IR (Tl Widha) 3R STt AisTa o1 THR=AH0

3. ¢ SS9 & DB7 fae & UifehT

4. % ST §Y & DBY fae &1 TifeiT

Question Number : 12 Question Id : 25498930958 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is an alternative mechanism of preventing software from being dependent on several delay factors along with
an optimum time proficiency of checking the LCD status at the interfacing level?
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Options :
1. ¥ Updating the faster display in less time
2. # Generalisation of clock frequency and display module
3. % Polling of DB7 bit of the data bus
4. % Polling of DB bit of data bus

Question Number : 13 Question Id : 25498933178 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1 MB, CIESRIGIN]
Options :

1. % 1,056,576

2. % 1,048,500

3. % 10,048,576

4.9 1,048,576

Question Number : 13 Question Id : 25498933178 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1 MB is bytes.

Options :

1. # 1,056,576

2. % 1,048,500

3. % 10,048,576

4.+ 1,048,576

Question Number : 14 Question Id : 25498933726 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TTHT Tt 3NMYfFIH RGBSR MR TR B TN fpar IR arel hgder . ©
Options :

1. ¢ fafegd (Nb) SR ergef o (Ti)

2. % fAOfeTH (Nb) 3R IR (Cu)

3. % f3%d (Ni) 3R egef~aH (Ti)

4. % 9P (Ni) 3R BIR (Cu)

Question Number : 14 Question Id : 25498933726 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The conductor used in nearly all modern superconducting MR scanners is
Options :

1. ¥ niobium (Nb) and titanium (Ti)

2. # niobium (Nb) and copper (Cu)

3. * nickel (Ni) and titanium (Ti)

4. % nickel (Ni) and copper (Cu)

Question Number : 15 Question Id : 25498933813 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e § 9 P11, U sifYed ©ke fEaeg T8 82

Options :
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1. ¥ USB glsd
2. % DVD
3. % o o
4. % CD

Question Number : 15 Question Id : 25498933813 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an optical storage device?
Options :

1. % USB drive

2. % DVD

3. ¥ Blu-Ray disk

4. % CD

Question Number : 16 Question Id : 2549897345 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which file format is used to save a Virtual Basic script written in the VBScript scripting language?
Options :

1. # v.script

2. % vbt

3. % ybscr

4. % vbs

Question Number : 16 Question Id : 2549897345 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

VBScript@F)@"T Wﬁﬁ‘l@ﬂ%\/isual Basic Wﬁ%%@%wmmwmm%
Options :

1. * .v.script

2. % bt

3. # vbscr

4. % vbs

Question Number : 17 Question Id : 2549897737 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cable television systems transmit data over cable.
Options :

1. #* infrared waves

2. % coaxial

3. # twisted pair

4. # laser optic

Question Number : 17 Question Id : 2549897737 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DHed cailider ReH HTA IR ST YR HRd & |
Options :

1. % SPRS dT
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2. & DRI
3. % fges 3R
4. % QoR HPH

Question Number : 18 Question Id : 2549897916 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In topology each node is connected to at least one other node and usually to more than one and each node is capable of
sending messages to and receiving messages from other nodes.

Options :
1. ¥ mesh
2. % gtar
3. * ring
4. % bus

Question Number : 18 Question Id : 2549897916 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TSt & TAE S HH Y HH TH 37 1S I I gl 8 3R Ir=d: T F 31fies A8 & It gt 8 3R v s
3T ST P! TS Hol 3R U H3 H e gl g

Options :

1. ﬁ'EZT(mesh)
2. # IR (star)
3. % ﬁT[(ring)

4. % §F (bus)

Question Number : 19 Question Id : 2549898220 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
virus can infect a file without changing the size of the file by using only empty sections, making it more difficult to detect.
Options :
1. ¥ Memory
2. % Stealth
3. ¥ MBR
4. % Cavity

Question Number : 19 Question Id : 2549898220 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IRY, T3 & 3THR oI f§1 uRafdd 5, wred & Rad Wsi 1 IUTNT b BIgd B! UhHd B Jbdl § 3R 30
UgaTH 3R 31 HieT 8 Jrar g |
Options :
1. % AARY
2. % XX
3. % MBR

4, ¢ Bt

Question Number : 20 Question Id : 2549898366 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Users can change the order of the boot sequence through which device setup?
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Options :
1. ¥ NTLDR
2. % BIOS
3. % MBR
4. % POST

Question Number : 20 Question Id : 2549898366 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Il g T & HH & by fSargy Yoo gRI gad Tohd 82
Options :

1. ¥ NTLDR

2. % BIOS

3. # MBR

4. % POST

Question Number : 21 Question Id : 2549899467 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SPOOL stands for Simultaneous Peripheral Online.
Options :

1. # On

2. % Operations

3. # Ongoing

4. % Off

Question Number : 21 Question Id : 2549899467 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SPOOL &1 Q0T U UgARFO ORRe  3fFars gl
Options :

1. % 3

2. TR

3. % SIS

4, % 3B

Question Number : 22 Question Id : 25498910852 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The output quality of a dot-matrix printer is measured in:
Options :

1. ¥ dots per inch

2. # dots per sq. inch

3. # dots printed per unit time

4. % dots printed per unit paper

Question Number : 22 Question Id : 25498910852 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
STe-Afea filex @t 3m3eye Tura & foras [T SITar 82

Options :
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1. ¥ Slcaufd g9
2. % Sl ufaariga
3. % gl gfe ug ¥ fiie fou e sicy
4. % gfd gfic TR | fiie fou e sicq

Question Number : 23 Question Id : 25498911141 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In first generation of computers technology was used.
Options :

1. % vaccum tubes

2. % transistors

3. # integrated circuits

4. % VLSI

Question Number : 23 Question Id : 25498911141 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR BIUGA GG H__ Tebrilep T IUANT febar 7ram T
Options :

1. ¢ dogH &4

2. % TifoRex

3. % Tdbldhd URUY

4. % VLSI

Question Number : 24 Question Id : 25498913366 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
compression perfectly restores the original images when applying a reversible process.
Options :
1. ¥ Dirty
2. # Lossy
3. % Lossless
4. % Clean

Question Number : 24 Question Id : 25498913366 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS vfdad! (Radea ufpar ararad aqg e gt aRg 9 4d a3l & a1fid dierar 8|
Options :

1. % TfeH (Dirty)

2. % gIMHRS (Lossy)

3.« gIRfgd (Lossless)

4. % W (Clean)

Question Number : 25 Question Id : 25498913377 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a commonly used method of lossy compression for digital images, particularly for those images produced by digital
photography.
Options :
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1. ¥ PNG
2. % AVI

3. ¥ JPEG
4. % MP3

Question Number : 25 Question Id : 25498913377 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mm(@@)%mmm(lossy compress10n)ﬁmwwmaﬁwaﬂ$[% foRy =g
T 3 ofagt & fore S f$frea widmme gri Affa g1t 81
Options :
1. ¥ PNG
2. % AVI
3. % JPEG
4. % MP3

Question Number : 26 Question Id : 25498913904 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to standards set forth in Internet Engineering Task Force (IETF) document RFC-1918 , there are some [Pv4 address ranges
are reserved by the IANA for private internets and are not publicly routable on the global internet.

One of those ranges is from 10.0.0.0 to
Options :

1. % 10.0.255.255

2. % 10.255.255.0

3. % 10.255.0.255

4. % 10.255.255.255

Question Number : 26 Question Id : 25498913904 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST SONARTT SRS B (IETF) GX1a9 RFC-1918 B FEiRd AF®I & S8R, $S [Pv4 TdT 011 IANA gRIT st §exe
¥ oy 3RfA § 3R 3f® Fexaic R Fravi-e 0 I T B TRg T8I g |

STHATH 100008 Bl
Options :

1. # 10.0.255.255

2. % 10.255.255.0

3. % 10.255.0.255

4. % 10.255.255.255

Question Number : 27 Question Id : 25498918423 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the advantage of setting a default printer?

Options :

1. * Tt prints the jobs slowly than other printers.

2. % It saves your time (will not ask for printer details before printing).
3. ¥ The printing quality is far better than other printers.

4. % This printers’ cost is less than other printers.
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Question Number : 27 Question Id : 25498918423 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fewice fifex AT BT FRITAH B2

Options :

1. ® Tg 3= el oF aef Haf (Sid) BT Ja0r efR-4R I Far g
2.+ U YT THY §41dT § (&0 ¥ uga fiiex faavor 78t gzan) |
3. % SY! GEUT e 3 fiieRl ¥ Fal it srest et 3|

4. % 39 DX B arTd e A A HA R

Question Number : 28 Question Id : 25498918597 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To insert page number in MS-word 2016 we have to select menu in the ribbon.
Options :

1. * File

2. # View

3.+ Insert

4. % Design

Question Number : 28 Question Id : 25498918597 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-word 2016 T U8 $Hidh (U6 o) UAF dRA & [T A RIA T T b1 I HAT gRTT|
Options :

1. % TIgd (File)

2. % (View)

3.9 ET\EITCF (Insert)

4. % fS9meA (Design)

Question Number : 29 Question Id : 25498920531 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A directory within a directory is called
Options :

1. #* Mini directory

2. * Junior directory

3. # Part directory

4. % Sub directory

Question Number : 29 Question Id : 25498920531 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SNGC b R SNG] sl gl
Options :

1. % it SrRaed

2. % SR SRRECS

3. % UIC SRRaey

4. T SRR

Question Number : 30 Question Id : 25498921925 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is a technique for transforming information on a computer in such a way that it becomes unreadable.
Options :
1. # Decryption
2. % Encryption
3. % Atomization

4. % Customization

Question Number : 30 Question Id : 25498921925 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
it HER | Yo 95a & oI Th USR BT a1 gl ¢ oI I8 U319 a1 |l 5 |
Options :
1. % fapls ((Sfh)
2. ¥ Heaa (YU RM)
3. % PUIHUT (TSHISIRA)

4. % 3HA (HCHSORM)

Question Number : 31 Question Id : 2549896291 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

f$fiea gxer & fore Al & e sy e T8 82
Options :

1. % g gl &1 Th Uishar g

2. ¢ T [hEl P GHIER BT Wb i g 3HOI gIdh o

3. % Y THSRI UHY B S STl g 1

4. % P} yfaAfa 78t S 1 Wbl B

Question Number : 31 Question Id : 2549896291 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to digital signatures is INCORRECT?
Options :

1. # Tt is a mechanism for authentication.

2.+ It is the scanned image of one's signature.

3. % Itis created by encrypting information.

4. # Tt cannot be duplicated.

Question Number : 32 Question Id : 2549896628 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TAGRIHS HIAY (3-B1Y) TAUTT ASd I FART A §:

Options :

1. % aiorey forad wTia g & a3l &l WieHT 3R ST Wiy 3
2. % IR S SR-¢-8R fawpl W Rk wrar g1

3. % oSy o pger W AR A g

4. ¢ IO S gexe I 98 HEER] R T T a9 WR 3nenid g

Question Number : 32 Question Id : 2549896628 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

By Electronic Commerce (E-commerce) business model, we mean:
Options :

1. #* commerce that involves buying and selling the items in a local shop.
2. % commerce that depends on door-to-door selling.

3. # commerce that does not depend on computers.

4. % commerce that is based on transactions conducted over computers connected to the internet.

Question Number : 33 Question Id : 2549897165 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafiRad # @ S1H-91 39 ST3foRT Siteder HreehiaTe gRT fawiid fasar T g2
Options :

1. % A HIH

2. ¥ $TC TRIGIRR

3. % IR

4. % BRRGI

Question Number : 33 Question Id : 2549897165 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following web browsing software has been developed by Microsoft?
Options :

1. #* Google Chrome

2. % Internet Explorer

3. # Opera

4. % Firefox

Question Number : 34 Question Id : 2549897413 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

{3 9 T IUTNT BB MS-Word 2013 STagHe H RPR 2 B! SIS ST avdl 82
Options :

1. # Edit

2. % Format

3. % Insert

4. % Home

Question Number : 34 Question Id : 2549897413 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By using which tab can you add a signature line in an MS-Word 2013 document?
Options :

1. ® Edit

2. % Format

3. % Insert

4. % Home

Question Number : 35 Question Id : 2549897871 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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PowerPoint TRGfd & 4 # ¥ ford =0 &1 IUTNT G =4 H fol ST Wb+ aTal URac1 o1 g | 3ifiies Ay wargs dsmse
3R YT URac $H= 3 fore o Sirm g2
Options :
1. % WSS HicR
2. % Ldlgs HICY
3. ¥/ BS3MIT AR
4. % Iy AR

Question Number : 35 Question Id : 2549897871 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following views of a PowerPoint presentation is used to make more specific slide layout and formatting changes than
you can make in Print view?

Options :

1. % Slide Sorter

2. % Slide Master

3. % Handout Master
4. % Notes Master

Question Number : 36 Question Id : 2549898122 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel § 6 I1¢ & AHA § -1 HYF 7TAd 82

Options :

1. ® 99 IIE YT DI ga-1 a8 HRdT ¢ 9Id &l &b FoId ot A HI[G ol |

2. ¢ 94 T1¢ A avit & T BT gaT T ¢ |

3. % 99 91¢ § A fog Tohd Se fag ¥ Ad Wrar g

4. % JA I1C & foTT ST AT BT ORI I 9ad BT HHR iR HRa g

Question Number : 36 Question Id : 2549898122 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to bubble chart in MS Excel is INCORRECT?
Options :

1. % A bubble chart compares sets when three values exist instead of two.

2. % A bubble chart compares values across categories.

3. #¥ Each dot in a bubble chart corresponds with a single data point.

4. % The third column of data table for a bubble chart determines the size of the bubble.

Question Number : 37 Question Id : 2549899125 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Outlook fa8! &1 FEfIREd & | HH-TT $eWY °UTH, Outlook 2013 H Halex, TR, Hi<ac R A Wicex UG RId Hdl g2
Options :

1. % Rfgn =

2. ¢ AfIRA TR

3. % faqute

4, % ¢ g-dR

Question Number : 37 Question Id : 2549899125 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which of the following interface components of the Outlook window displays the Calendar, Tasks, Contacts and Mail folder in
Outlook 2013?

Options :

1. # Reading Pane
2. % Navigation Pane
3. % Clip Pane

4. % To-Do Bar

Question Number : 38 Question Id : 25498910532 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2007 ¥, U%T Ye3d S@NT die & - U 'Apply to' faded § oTgt AT ST 8 | 39F YT HRA W, Word
e g (insertion point) TR T UF S ST & 3R b & d1C &1 13 Qe BT IUTNT IR HRT 8 |

Options :

1.« e dige BRAS (this point forward)

2. ® 9hds Ul (backward point)

3. % PHIc Ul (current page)

4, # BVWE:IJH@? (whole document)

Question Number : 38 Question Id : 25498910532 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2007, at the bottom of the Page Setup dialog box is an 'Apply to' option where is selected. By using this, Word
creates a page break at the insertion point and starts using the new settings only after the break.

Options :

1. ¥ this point forward
2. % backward point
3. # current page

4. % whole document

Question Number : 39 Question Id : 25498910604 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2013 H Fufafad & 3 forg Tig & ars= Wi fAweg v 82
Options :

1. ¢ IRTUTG 9ig

2. % UiSfTag

3. % i< g

4. % LA e

Question Number : 39 Question Id : 25498910604 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Within which of the following groups is the line spacing option present in MS-Word 2013?
Options :

1. % Paragraph group

2. # Editing group

3. # Font group

4. # Styles group
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Question Number : 40 Question Id : 25498911440 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 7S 3OS B fashed, MS-Word 2016 A Reg g & g & e g S el & |

Respect =

Options :

1. ¢ bt
2. % HOH
3. % fhT
4. % oo

Question Number : 40 Question Id : 25498911440 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The options in the given image can be found within the group of the Review tab in MS-Word 2016.

Respect =

Options :

1. ¥ Proofing
2. % Comments
3. # Tracking
4. % Changes

Question Number : 41 Question Id : 25498911819 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, in the context of text formatting, the line spacing setting 'single spaced' is line/s high.
Options :

1. % one

2. # two
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3. % three
4. % four

Question Number : 41 Question Id : 25498911819 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H, Tqe BIHfe & e &, g7 ORI IRT R @ @189 IH(high) 8
Options :

1. ¥ Uh

2. % Q

3. % dH

4. % IR

Question Number : 42 Question Id : 25498911904 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafiiad 7 @ fooa Su A o o 3o af= fosam
Options :

1. % AOL

2. % T[T (Google)

3. ¢ AIZHINIUC (Microsoft)

4. % qrg! (Yahoo!)

Question Number : 42 Question Id : 25498911904 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following companies launched the Bing search engine?
Options :

1. % AOL

2. # Google

3. % Microsoft

4. % Yahoo!

Question Number : 43 Question Id : 25498911924 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e B fafet o UehRY @ UefRid v & forg 31T MS-Word & 30 SXd1aw H ol Tahd §, IR Tg asiSc ea i
3T T ¥ Walia B

Options :

1. % TIfoa

2.+ US Y3

3. % Bl

4. % gfthT

Question Number : 43 Question Id : 25498911924 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The “Columns” menu displays various column types you can add to your document in MS-Word, and it belongs to command
group in Layout tab.

Options :
1. # Margins
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2. ¥ Page Setup
3. ¥ Font
4. % Proofing

Question Number : 44 Question Id : 25498911952 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following symbol in a flowchart is used for

Options :

1. ¥ Decision making
2. % Input

3. # Processing

4. % Qutput

Question Number : 44 Question Id : 25498911952 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

wr-Te # Bew ude & sude feae o fear smar 2

Options :

1.+ SrteH AfdsT
2. % g9c

3. % YRy

4, % 313cYc

Question Number : 45 Question Id : 25498913319 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 ¥, FafifEad & ¥ #1931 TRifler Wi Tg & fadhed S B9 (Change Case)' T U BIdT 2
Options :

1. % RPY, IRFH 5, HUcded 59 98

2. % IIREHY, TATID, IRFTH H4

3. ¢ U HY, ASRPY, SRPHY, HiUcasd 59 98, THTADY

4. % RHY, ASRBY, WREMG H4

Question Number : 45 Question Id : 25498913319 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, which of the following parameters are present within the 'Change Case' option of the Font group?
Options :

1. ¥ UPPERCASE, paragraphcase, Capitalize each word

2. % UPPERCASE, tOGGLE cASE, paragraphcase

3. ¥ Sentence case., lowercase, UPPERCASE, Capitalize Each Word, tOGGLE cASE

4. % UPPERCASE, lowercase, paragraphcase
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Question Number : 46 Question Id : 25498919149 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gtnw 3T, S MS-Word 2016 H AT 2§ & iR TE SNY (Create group) H TR ST Tavall B, HT YT BT
|

Options :

1. % frmIh(Taqu)
2. Sd

3. % W)

4. % P HS

Question Number : 46 Question Id : 25498919149 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The given icon, which can be found in the Create group within the Mailings tab in MS-Word 2016, represents

Options :

1. % envelopes

2. % labels

3. % letter

4. % greeting card

Question Number : 47 Question Id : 25498919223 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

372 ISt qa e fRid gt § o dex Ad afsht & R o # AR eI A grar |

Mew Address List ? X
Type recipient information in the table. To add more entries, click NMew Entry.
|Tu|e w | First Name vJ Last Name vj Company Name w | AddressLine 1
L€ >
Hew Entry Eind...
Delete Entry | Customize Columns... b 0K Cancel
Options :
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1. % TISIGT it BT JUTNT B (use an existing list)
2. % Outlook JUDT B ﬂef (select the Outlook contacts)
3. W%ﬂ?ﬁ?@a’ﬁ (type a new list)
4, % Fﬁﬁ TIE B (import the list)

Question Number : 47 Question Id : 25498919223 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The given window is displayed when the radio button is enabled in the third step of mail merging a letter.

MNew Address List 7 X

Type recipient information in the table. To add more entries, click Mew Entry.

[ [T v |FrtName  «|lastName  +|Company Name v |Addressine 1 ||

=

L« 8 i d
Mew Entry Eind...
Delete Entry I Customize Columns... f} oK Cancel
Options :

1. # use an existing list

2. % select the Outlook contacts
3. ¥ type a new list

4. % import the list

Question Number : 48 Question Id : 25498919250 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H, '3 UTIahdl &1 §TER BX (exclude this recipient) faded, A T ufshar & RO AITAH |
Options :

1. % Ugd

2. % dRR

3% W

4. Ui=d

Question Number : 48 Question Id : 25498919250 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, the 'exclude this recipient' option is available in the step of the Mail Merge process.
Options :

1. % first

2. % third

3. % second

4.+ fifth
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Question Number : 49 Question Id : 25498924870 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-ExcelﬁWm_a§ﬁlﬁm%|

Options :

1. % SO AR ST BT (70 =l

2. % STI! BICT 7T B JHI

3. ¢ YTRA BT CIARH FH

4, % DGR BT SR B 3R RN DI B1Ed & ¥ H Jd B P ¢ BIH §H

Question Number : 49 Question Id : 25498924870 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pivot tables in MS-Excel are useful for:
Options :

1. * creating image manipulation tasks

2. # understanding small quantities of data
3. % creating unweighted cross tabulations

4. # creating forms to capture information and save the contents as a file

Question Number : 50 Question Id : 25498925512 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%Ag.g\%r%ﬁﬂ?ﬁﬁ:wﬁm, 3T, Uclich T Tobeleb & S YA ARG 3T TR A BIEYSTet Sdl/ldr & 3R 3899 et 4
0

Options :

1. ¢ Ja¥hY

2. % JWRIEHY

3. % fSTHPIY

4. % JATBHIY

Question Number : 50 Question Id : 25498925512 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word, what is a number, figure, symbol or indicator that is smaller than the normal line of type and is set slightly below it?
Options :

1. % Subscript

2. # Superscript

3. ¥ Underscript

4. % Overscript

Question Number : 51 Question Id : 25498932139 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

UgaH b fear T Sy 9 § a1 3|

(i) TSTT BITHRIT BT ITANT DR, BT AT RIFT T TR 3R TR0 H U & Tehdl
(if) TS BITHRIT SHT BT SMTHA-ITHA BT BT P THH S |

Options :

1. ¢ (i) 9 (i) I

2. % (i) I (ii) 3A
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3. % (i) 3 (i) I
4. % (i) 39 (i) 3T

Question Number : 51 Question Id : 25498932139 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements are true or false.

(i) Using videoconferencing, students can attend lectures and training from different locations.
(i1) Videoconferencing makes the experience similar to a face-to-face class.

Options :

1. % (i) True (ii) True
2. % (i) True (ii) False
3. * (i) False (ii) True
4. % (i) False (ii) False

Question Number : 52 Question Id : 25498934493 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

difean it & SRM, frat dofl A A ueRid gl e, |
Options :

1. ¥ ST I 8 Gere s dare

2. % RS I & srfafid fewrs St e

3. % RS Yuen ST ®

4. % 9IS SaTeT RUY fe|Ts <aT g

Question Number : 52 Question Id : 25498934493 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During video streaming, the faster the frames are displayed,
Options :

1. ¥ the smoother the video appears

2. # the fuzzier the video appears

3. # the blurrier the video gets

4. % the more vague the video appears

READING COMPREHENSION

Section Id : 2549895919
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895960
Question Shuffling Allowed : Yes
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Question Id : 25498920893 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Memories of my boyhood

One person who greatly influenced my boyhood was my first cousin, Samsuddin. He was the one and only distributor for newspapers
in Rameswaram. The newspapers would arrive at Rameswaram station by the morning train from Pamban. Samsuddin’s newspaper
agency was a one man organisation providing to the 1000 - strong literate population of Rameswaram town. These newspapers were
mainly bought to keep track of current developments in the National Independence Movement, for astrological reference or to check
the gold or silver rates prevailing in Madras. A few readers with a more cosmopolitan outlook would discuss Hitler, Mahatma Gandhi
and Jinnah; almost all would finally flow into the mighty political current of Periyar EV Ramaswamy’s movement against high caste
Hindus. Dinamani was the most popular newspaper. Since I could not read then, I had to satisfy myself with glancing at the pictures
in the newspaper before Samsuddin delivered them to his customers.

The Second World War broke out in 1939, when I was eight years old. For reasons I have never been able to understand, there was a
sudden demand for tamarind seeds in the market. I used to collect the seeds and sell them to a provision shop on Mosque Street. A
day’s collection would fetch me the princely sum of one anna. Jallaluddin, who later married my sister, would tell me stories about
the war which I would latter attempt to trace in the headlines in Dinamani. Our area, being isolated, was completely unaffected by the
war. But soon India was forced to join the Allied Forces and something like a state of emergency was declared. The first casualty
came in the form of the suspension of the train halt at Rameswaram station. The newspapers, now had to be bundled and thrown out
from the moving train on the Rameswaram Road between Rameswaram and Dhanuskodi. That forced Samsuddin to look for a
helping hand to catch the bundles and, as if naturally, I filled the slot. Samsuddin helped me earn my first wages. Half a century later,
I can feel the surge of pride in earning my own money for the first time.

Sub questions

Question Number : 53 Question Id : 25498920894 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How was Samsuddin related to the author?

Options :

1. # Samsuddin was a classmate.

2. # Samsuddin brought the newspaper to the author's house.
3. % Samsuddin used to tell stories to the author.

4. % Samsuddin was a very close relation of the author.

Question Number : 54 Question Id : 25498920895 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why does the author appreciate Samsuddin so much?

Options :

1. % Samsuddin single-handedly supplied newspapers to 1000 customers.

2. # Samsuddin made the author aware of national and international happenings.
3. # Samsuddin was the first person to take the author to Dhanuskodi.

4. # Samsuddin kept the author updated on gold and silver prices.

Question Number : 55 Question Id : 25498920896 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which period is the author referring to in the passage?

1. pre-independence India

2. before the outbreak of the World War II

3. when Periyar Ramaswamy was fighting against the privileges of high-class Brahmins
4. immediately after the independence of India

Which of the following combinations is correct?
Options :
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1.4 1,2 and 3 are correct.
2. % 2.3 and 4 are correct.
3. % 1,2 and 4 are correct.

4. % 1 and 4 are correct.

Question Number : 56 Question Id : 25498920897 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why does the author say that one anna was a princely sum?
Options :

1. #* The money came from the prince of Rameswaram.

2. % The buying power of one anna was quite a lot.

3. ¥ The common people were not very greedy.

4. # The author did not have to work too much to earn the money.

Question Number : 57 Question Id : 25498920898 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How did Samsuddin help the author earn his first wages?

Options :

1. #* Samsuddin was looking for an assistant for his growing business and the author offered his services.

2. % The train from Pamban did not stop at Rameswaram station to supply newspapers to Samsuddin.

3. % The author got paid by Samsuddin for collecting the newspaper bundles thrown midway from the moving train.

4. # The extra newspapers not required by Samsuddin was sold to a nearby provision store by the author.

Question Id : 25498920893 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

faQ U TR ) U 3R ISP YR W U P IR S
ST B 1S

TS Afad forgm TR S99 S §gd UHIfad far a8 TRT T=eiRT IS, THYE UT| 98 IHHRA H THTER U3 &1 ThHE faaRe® ol
AR U IHHRH WRHE TR U6 1 GIE B o I Ugad ¥ | THIEH DI TR Toi! AT RER BT 1000 ATER TETET BI
Y& P dTell Uhel-aafad] 9113 2| 37 FHIER Y31 1 H& U Y AP WaiAdl 3fiala H IaaH [ & b & g,
st de & forg a1 ag & vaferd IR a1 9idl &1 X &t i & forg Witer S o e fayerd e @i a 5o
UToh fgeer, HeTel el ofR foram R el e & et @aft sida: S oifd & fEgafi & Raams Ufivar Sdt et &
3fiaIer & fadRIet i Tare & 3T 98 oTd 3| ST I8 A YHRIR U o df & a9 T8l Ue U oT, 39ferg
TS TR GRT 30 6! 1 I+ J Ugd THEIR U & foHl IR ToR S1d I 81 e DI Ay BT gl ATl

fata fay g5 1939 T YR= 81 a1, O1d H 3113 TIet &7 AT | HROTH St Ty 78 uran, 1ok H 3Hel & ol B SfaMHe Wi 66
TS 2t H i IHgT el UT 3R I8 AfIg KIe IR T NAoH TR & S9dl U7 | T {37 &1 TUE Jo Th 31 Bt HI-HReH
IR HHTHR Sl 7| 1€ B, B 981 3 faaTg 37 10, Tearde ™, o I & IR B He1-ai A Har U1 o a1 § § A
DT GRITN & T BT T BT AT THART &F AT, I U GXI o o YU AT | s Seg 81 URd &I Tganh gal | =i
B & foTT ToTaR BT UST SIR 31TuTd fRUfY &1 aRE T Oiftid = o am | ug et gee Hf IWRE ®IE &1 gad Hafad &
& 7T | TR U3 1 316 IHARH SR YTEDIe! & o IR IS TR A ¢ 9 a6 BT offdl U7 | $89 BRI GHGEH B
FSdl Bl Uhg N TSl 31 & o [t &t srawaesdt USt 3R, S WHifas &0 §, §7 98 S Udh s fordn| uge = 3
9 I Ul Heigdt HHM § HEg 31| 3fTelt 6l 918, § Ugel IR (U1 01 HHM H Td 3T g Heg™ B 9bdl g

Sub questions

Question Number : 53 Question Id : 25498920894 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THYEH TGP I HY Taifdrd o1
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Options :
1. * YUY GguIdt ol
2. % JOYEH oD o IR H JHER T A1l AT
3. % GGG A I Bl AT |
4.« UYL BT AWD & 1Y Tgd DbIel R T

Question Number : 54 Question Id : 25498920895 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AGH THYEH DI a1 TRIT ] R 82

Options :

1. ¢ GGG 3bd 51 1000 ATEH! DI FHER TAT BT STYfel fobam sw=ar T
2. % FHYEM D P AP 3R SIRRIPTA g1 & IR H Fara |

3. % YA OG® B YRPIS! o S aTel Iga fad Tl

4. % JOYEH AGH BT A SR et BT S IR T 7T ATl

Question Number : 55 Question Id : 25498920896 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AP T I H forg 3rafdy b7 forep R 3B 82

1. TqCAdT & Ugd BT HRd

PR EGICAGE K - i ol L R R e |

3. 99 UROR IARATH 3= Yot & STEI0n & [ARIWIReRI & faars as 38 3
4. HRd B 3MTSTEl & gid T

frofeiad & @ &1 a1 gaioH T8 82
Options :

1.¥ 1,2 3R 3 eI g

2. % 2 3 3R 4T G

3% 1,2 3R 4TS

4. % 1 IR 4TSI

Question Number : 56 Question Id : 25498920897 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TGS I HEd ¢ b T ST 9gd Jat A 22

Options :

1. % U7 AARA & IGGHAR F AT AT |

2. ¥ T 31 1 WG Yfer] BIHT |

3. % 39 WM §gd et el U

4. % T UM & T TE® &1 9gd e HTH gt BT US|

Question Number : 57 Question Id : 25498920898 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TUYE 3 AGH B 3T Ul Holgdt FHM B HY A BI?

Options :

1. % JEYEH U7 §¢d SATIR & foIE U YeTaed B aam H U 3R A F 30T Jarsf &t U= o1
2. % Ua BI ¢ IHYRH R TR JHYE A B! GHER U3 B T[S & o et v gt ot

3. ¢ WD Bl GOYE A A Tl ¢ ¥ b dTc] JHER UH & S8l ] ShgT H & ol YT foba|
4. % UYL T SAGRID HdRed FHER UF a@dh §R1 U & Wifdeid R H &1 17 AT
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QUANTITATIVE APTITUDE
Section Id : 2549895920
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895961
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914278 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following question?

475 + 64% of 950 =900 + ?
Options :

1. % 183

2. % 233

3. % 1983

4. % 1863

Question Number : 58 Question Id : 25498914278 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafatad v o s fog (2) & M W S It T st

475 + 64% of 950 =900 + ?
Options :

1. %183

2. % 233

3. % 1983

4. % 1863

Question Number : 59 Question Id : 25498914330 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The product of three consecutive even numbers is 4032. The product of the first and the third number is 252. What is five times the
second number?

Options :
1.4 80
2. %100
3. % 60
4. %70

Question Number : 59 Question Id : 25498914330 Question Type : MCQ Option Shuffling : Yes Display Question Number :

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 28/40



5/16/22, 3:39 PM https://g01.tcsion.com/CAE/viewHtmIPDFAction.action
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
T HHTTT TH T BT OB 4032 1 TR SR R} TS BT UHEE 252 § 1 G WReAT &1 Ui AT T 82
Options :
1. % 80
2. % 100
3. % 60
4. %70

Question Number : 60 Question Id : 25498914339 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What will come in place of question mark (?) in the following question?

(1.69)* = (2197 +1000)* x (0.13 X 10)* = (1.3)"2

Options :
1. % 6

(B

Question Number : 60 Question Id : 25498914339 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

afaf@a wed & v REa (?) & T 9T F1 HITEm?

(1.69)* = (2197 = 1000)® x (0.13 x 10)% = (1.3)"2
Options :
1.% 6

Question Number : 61 Question Id : 25498914340 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of question mark (?) in the following question?
(You are not expected to calculate the exact value)

68% of 1288 +26% of 734 —215="?
Options :
1. # 620
2. % 930
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3. % 540
4.4 850

Question Number : 61 Question Id : 25498914340 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fgfefad vy 7 uy g (2) & QI IR T 1 M ST
(3TD! P A P ITUHT B P ATTIHT T8l §)

68% of 1288 + 26% of 734 - 215 =7
Options :
1. % 620
2. % 930
3. % 540
4.4 850

Question Number : 62 Question Id : 25498914365 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the greatest three digit number which is multiple of 7.
Options :

1. % 994

2. % 996

3. % 993

4. % 995

Question Number : 62 Question Id : 25498914365 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Y TSI I 3iehT aTell TR 1 B il 7 b UM 5|
Options :

1. % 994

2. % 996

3. % 993

4. % 995

Question Number : 63 Question Id : 25498929167 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A husband and a wife have monthly incomes in the ratio 5 : 6 and monthly expenditures in the ratio 3 : 4. If they save ¥1,800 and
21,600, respectively, find the monthly income of wife:

Options :

1. % 33,400
2. %.32,700
3. % 71,720
4.+ %7200

Question Number : 63 Question Id : 25498929167 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS Ul 3R Uell 1 AIRYS 31T 5 : 6 & AT B g 3R WA 9 3 : 4 & U | & | AfS I HH: 21,800 3R 21,600 T &,
o Uell b1 HITRYeh {1 Ul BT
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Options :
1. % 33,400
2. % 32,700
3. % 31,720
4. % 37,200

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549895921
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895962
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910044 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following words will come second if all of them are arranged alphabetically as in a dictionary?

Options :
1. # Parasite
2. % Party
3. % Petal
4. # Paste

Question Number : 64 Question Id : 25498910044 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

%r&“r%?naﬁﬁﬂﬁ%ﬁﬂﬁﬁﬁ@ﬂ&ﬁﬁ%mwﬁaﬁqﬁm@mmw%ﬁwwwﬁww

Options :
1. # Parasite
2.+ Party
3. % Petal
4. % Paste

Question Number : 65 Question Id : 25498910134 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Foresight : Anticipation :: Insomnia : ?
Options :

1. #* Treatment

2. % Disease
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3. ¢ Sleeplessness
4. % Unrest

Question Number : 65 Question Id : 25498910134 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 faehed &1 78+ &3 ST IR U ¥ 34 UhR T Teifiid § o TR ¥ G861 Ue Ugel Ue & e 2|
WM@@W@M ; JAgIEHAE) 2

Options :

1. ¥ ITEAR(CIeHe)

2. % SRR

3. ¢ FgreryE e uae-9)
4. % JfAYH(IRE)

Question Number : 66 Question Id : 25498912838 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following arrangement of letters, digits and symbols to answer the question given below:

19BQ=$25RJISL3I@YME68*+DF4BH7©

How many such letters are there in the arrangement each of which is immediately followed by a number but not
immediately preceded by a symbol?

Options :

1. % Nil

2. % One

3. ¥ Two

4. % Three

Question Number : 66 Question Id : 25498912838 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fe G 0 W & 3 o & v 3w, i R ww fr e een @ wmgEs o
19BQ=%25RJ6L3I@YMEE68*+DF4BH7@

Tt el 82

Options :
1. % g
2. % U
.44

4. % dH

Question Number : 67 Question Id : 25498919665 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as second number is related to the first.

24:126::48:7
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Options :
1. # 192
2. % 433
3. % 240
4.4 344

Question Number : 67 Question Id : 25498919665 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 AT &1 997 F¥ of R FoR F I UHR T Taiferd g For TR Ry FaR Ugd AaR ¥ Tafdrd 3|

24:126::48:7?
Options :
1. % 192
2. % 433
3. % 240
4.4 344

Question Number : 68 Question Id : 25498919883 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different.
Choose out the odd one.

Options :
1. #* Pound
2. % Yen
3. % Ounce

4. ®* Franc

Question Number : 68 Question Id : 25498919883 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 fopedl § IR Weg few MU € 5 § 7 fordt UopR @ T SR €, Safeh T 379 e B | 3 el Xieg, o1 U |
Options :

1. * t|3|'—6'(P0ur1d)

2. % Y9 (Yen)

3.9 m(Ouncc)

4. % %(Fraﬂc)

Question Number : 69 Question Id : 25498920308 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and the fourth one is different.Choose out the odd one.
Options :

1. * Square

2. % Circle

3. # Triangle

4. % Cone

Question Number : 69 Question Id : 25498920308 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % qif (Square)
2. % gt (Circle)
3. % FIYST (Triangle)

4. ¥ TP (Cone)

GENERAL AWARENESS
Section Id : 2549895922
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895963
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895247 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is the largest trading Government company of India?
Options :

1. #* Food Corporation of India

2. % Mineral and Metal Trading Corporation

3. # Khadi and Village Industries Corporation

4. # Trade Fair Authority of India

Question Number : 70 Question Id : 2549895247 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafiRed & 3 SH- YRd ! 99 TS ARG TSR] HU 52
Options :

1. % R @ e

2. WS 3R YT AR A

3. % WIet 3R TR |

4. % YRJTI UUR Hell WIfereRol

Question Number : 71 Question Id : 2549895295 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who is the author of the 'Nyaya Sutra'?
Options :

1. ¥ Aksapada Gautama

2. % Maharishi Kanad

3. ¥ Mabharishi Kapila
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4. % Badrayan Rishi

Question Number : 71 Question Id : 2549895295 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
G G S AWD DI 82

Options :

1. ¢ 3f&TE Mad

2. % W Ig

3. % g Hfvar

4. % SV B

Question Number : 72 Question Id : 2549895402 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who is known as father of medicine?
Options :

1. # Aristotle

2. % Theophrastus

3. % Hippocrates

4. % Edward Jenner

Question Number : 72 Question Id : 2549895402 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3fY & e (wreR 3T AfSRM) & 70 § f5d ST S 82
Options :

1. % 3R

2. % Ry

3. ¢ Wby

4, % TSAS IR

Question Number : 73 Question Id : 2549895942 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who wanted Indian National Congress to be a ‘Safety Valve’?
Options :

1. ¥ A. O. Hume

2. # Lord Lytton

3. % WC Banerjee

4. # Surendranath Bannerjee

Question Number : 73 Question Id : 2549895942 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR ST BT D GR&T dled’ DI ST Argell U12
Options :

1. ¥ U 3. ggH

2. % qdie faed

3. % Zog It §N
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4. % PG TSI

Question Number : 74 Question Id : 2549899639 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main source of National Income in India is:
Options :

1. ¥ service sector

2. % agriculture sector

3. #* industrial sector

4. % trade sector

Question Number : 74 Question Id : 2549899639 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WRAAIFT T HT I AT Bl
Options :

1. a1 &

2. % By &x

3. % SN &

4. % TR &

Question Number : 75 Question Id : 2549899651 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In November 2014, broke the record for the highest individual score in a One Day International cricket match.
Options :

1. ¥ Rohit Sharma

2. # Martin Guptill

3. % Chris Gayle

4. # Virender Sehwag

Question Number : 75 Question Id : 2549899651 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TFdeR 2014 H, A T feadl SiRIPH fopdbe #9 § Hafe safdaid @R &1 Rebls drsll
Options :

1. Afgd T

2. % [ o

3. % fpg e

4. % dRg Gean
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Section Marks : 0
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Question Number : 76 Question Id : 25498941039 Question Type : TYPING TEST Display Question Number : Yes Calculator

: None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development of a

child and children have fun during this process as they get to explore new arenas.
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Section Id : 2549895924
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895965
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498937901 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None

Mountains have always been a challenge to the spirit of man and man has always accepted that challenge. The loftier a
mountain the greater has been the desire of man to climb and conquer its highest peak and enjoy the thrilling victory. Nearly
all the mountains of the world have now been conquered by the persistence and perseverance of man. Several expeditions
were organised to negotiate the many high mountain peaks in the world and most of them have been successful. A person who
decides to do mountain climbing has already accomplished and overcome his fear. It is an activity that teaches a lot about
facing challenges and overcoming our fears also. High altitude climbing is still a very dangerous task in spite of the
availability of oxygen masks and other protective equipment which modern climbers take with them. These of course are
indispensable accessories of climbing but more important than these is the stamina of the climber which ultimately
determines the success of his attempt. Throughout their journey death is his constant companion which he can keep at a
distance only with their superb and quick presence of mind. They have to tread every inch of the ground with utmost care for
a false step may not only strike them a fatal blow but also bring disaster to the whole expedition. That is why all expeditions
invariably take with them local guides who are experienced climbers and who have a thorough knowledge of the nature of the
terrain. Moreover a huge amount of capital is needed for financing these expeditions and this is generally provided by
governments or rich private organisations. The primary object of a mountaineering expedition is to get to the top of a high
mountain which in the past has withstood all attempts to conquer it. But it should not be presumed that the expedition is a
complete failure if it does not reach its destination. Sometimes operations are temporarily suspended because of bad weather
or the sudden death of a very important member of the party. Every big expedition takes people who are interested in biology
and geology and various other branches of science. These scientists carry with them equipment for recording their
observations concerning the weather and different forms of life in higher altitudes. Other scientists and expeditionists utilise
the fruits of their observations. Thus every unsuccessful expedition contributes to the success of later expeditions. The British
Expedition led by Colonel Hunt would have found their way to Everest much more difficult had not earlier expeditions armed
them with useful knowledge about the death dealing weather which they had to encounter in the vicinity of the summit. To
ordinary people mountaineering need not be a fearful and an inaccessible activity in the land of snowstorms where the brave
adventurer is always face to face with death. They can scale less ambitious heights and rest their weary limbs under a quiet
shelter while feasting their eyes in the distant landscape. In the company of friends they can enjoy an outing near a waterfall
or cross into the next valley with haversacks full of provisions dangling from their shoulders. All those who can afford to go to
hill station should seek this innocent pleasure for it can be had without any risk to life or limb.
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